
  
    
  

Glossary

Atari
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atari



The state of a stone or a group () which has only one liberty (○; and could be captured by the next move).
Very often used for the move itself (here: Black 1) which takes the penultimate liberty.

Descent
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descent



A move like Black 1, which descends towards the edge of the board.

Gote

Losing the initiative. A move which need not be answered.

Hane




	
	
	
	
	
	
	
	
	
	
	
	
	1

hane



A diagonal move played from one’s own stone, in contact with and around an opponent stone.
Often facing the edge of the board.

Ko
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ko-rule



Shape in which the rules prohibit the immediate capture of a single stone (White 2) that has just captured a single stone at the prohibited point (ko).

Miai
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miai



Two options with the same value, or purpose.
If one player takes one of them, the other one is left for the opponent (who is often forced to play there).

Seki




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

seki



Mutual life, shared life.
A configuration where groups of both colors share liberties, and are not independently alive. Neither side may capture any of their opponent stones without losing more points than they gain.

Sente

Initiative. A move which is answered.

Shortage of liberties
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shortage of liberties



For example, Black cannot play at A to secure two eyes for his group without putting his own stones () in atari.

Throw-in
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throw-in



An aid to killing or capturing using a sacrifice stone, which results in a false eye shape (, ✕) and which is often used to prevent the opponent from connecting at that point, or to reduce eye space.

Tsume-Go

The field of “Life & Death” problems.


Two – Life

Index of Problems




	
		
	
	
	
	







	
		
		
	
	
	
	
	
	
	
	
	
	
	
	
	
	






Problem T0003




	
	
	
	
	
	
	
	
	
	
	
	
	
	



Black’s group in the corner is dead as it stands.




	
		
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



Black’s group surrounds an area that consists of only two connected points (●).




	
		
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



Black’s group has only two liberties (●).
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Black cannot do anything locally.
But White is able to take Black’s group off the board by starting with the atari of 2.

Please note that this sequence is only displayed for demonstrative purposes. It would not be played in a real game.
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It is fruitless for Black to capture White’s single stone with 3.




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



Black has only one liberty (●) left.




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	4
	
	



White 4 takes all of Black’s stones off the board.




	
	
	
	
	
	
	
	
	
	
	
	



This is the final position.

● ○ ● ○ ● ○ ● ○ ● ○ ●

But let’s return to the original formation now.




	
		
		
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



You will realize that the empty space inside Black’s formation can be almost filled by White with what we already know to be a dead shape – the one-point shape △.

“Almost” means “all but one point”, which is equivalent to give atari from the inside.




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



This implies that we have identified another dead eye shape, the two-point dead eye shape △.


Three (straight) – Death

Index of Problems




	
		
	
	
	
	
	







	
		
		
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	







	
		
	
	
	
	
	






	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	









	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	








	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	










	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	







	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	







	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	






Problem T0014




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



The status of White’s group is unsettled.




	
		
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



White’s group surrounds an area that consists of three connected points (●), which are arranged in a straight row.




	
		
		
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



In order to stop White from reaching a living shape, Black wants to either almost fill the empty space inside White’s formation with the dead two-point shape (△) shown at the left …




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



… or to almost fill the empty space inside White’s formation with the dead two-point shape (△) shown at the right. There is only one option for doing so successfully.
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Black 1 occupies the central point of White’s eye space.

There is no option left for White to partition her eye space, so her group is dead.

Please note that the tsume-go solution sequence ends here. There is no need to really take White’s stones off the board.
Please also note that this implies that this problem is of the “one-move” type, and not of the “five-move” or “seven-move” type when regarding all the moves necessary to take White’s group really off the board.




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



The empty space inside White’s formation can be almost filled by Black with what we already know to be a dead shape – the two-point shape  / △.
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	A
	
	B
	
	



White will not continue locally, but play elsewhere with 2.

By playing at A or at B, instead, White would take her group an own liberty unnecessarily.

Please note that the following sequences are only displayed for demonstrative purposes. These would not be played in a real game.
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Black wants to prove that he is able to take White’s stones off the board and starts with giving atari at 3.
White 4 is played elsewhere again, so Black 5 finally captures White’s group.




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



Variation for White 4
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White 4 here is fruitless, because she captures only a dead two-point eye shape.
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Black 5 gives atari.
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As before, it is best for White to play elsewhere with 6. Black 7 finally captures White’s group.




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



Variation for White 6
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White 6 here is also fruitless, because she simply captures a dead one-point shape.
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Black recaptures with 7, taking all of White’s stones off the board.




	
	
	
	
	
	
	
	
	
	
	
	
	



This is the final position.

● ○ ● ○ ● ○ ● ○ ● ○ ●

But let’s return to the original formation now.




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



We have found another shape that will affect the life & death status of a group.

White’s eye space can be entirely filled with a dead three-point eye shape (△).




	
		
		
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



The vital point of this three-point shape is its central point (□) which is still unoccupied.




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



In order to simplify the presentation, the two previous diagrams will be combined to only one, as shown here.

The dead eye shape is highlighted by △ and □; □ is its decisive central point.

Death

Part 2

This section contains a subset of the straight three-point eye shape with its central point already occupied.




	
	
	
	
	



Problem T0015




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



< Go to the next problem >

< Return to the index >

< Go to the next chapter >

Solution
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Black 1 pushes into the centre of White’s formation, spoiling her shape.

Black must not mistakenly play at M or at N, instead, attacking only one side of White’s group.




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	3
	
	
	
	
	2
	
	
	
	
	
	
	
	
	
	
	
	P



White 2 and Black 3 are miai.

White’s group cannot get more than one real eye, and so is dead.

Black must not mistakenly play at P, instead, giving atari at the bottom right.




	
		
			
			
		
		
			
			
		
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



Subvariation for Black 3 = Failure P (x-move (ko))




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



Black just played atari at the bottom right.
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White connects at 4, securing an eye at the left.
Black captures at 5, but gains only an uncalled-for ko fight for the life of White’s group.




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	ko
	



This is a direct ko for Black, but an approach-move ko for White. White has to look for the first valid ko threat.
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Black ignores White’s ko threat of 6, in order to capture at 7, killing White’s group.




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



If Black wins the ko.

Sub²variation for Black 7
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Black answers White’s valid ko threat with 7. White 8 recaptures the ko.
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Black 9 is an internal ko threat that White has to answer locally at 10, securing her eye at the left.
Black 11 recaptures the ko.
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White 12 is her second valid ko threat, which is answered by Black 13.
White 14 recaptures the ko.
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White ignores Black’s ko threat of 15, in order to connect at 16, securing two eyes for her group.

Please note that White needed two more ko threats than Black to win the ko fight, not only one.
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If White wins the ko.

Subvariation for White 2
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If White 2 connects at the left, …
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… Black plays 3 at the right.

Again, White has only one real eye and is dead.




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



Failure M (one-move)




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



Black just played at the top right of White’s formation.
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White 2 occupies the vital point of the problem that Black should have taken beforehand, gaining a living shape for her group.
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White is the owner of the point of A, so B is a real eye.
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At the left, the points of C and D are miai, so E is a real eye.
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The atari of Black 3 can be utilized as a ko threat in a ko fight elsewhere on the board, but the descent to Black 5 is gote, and so only an endgame issue. White is able to play elsewhere with 6.
Thereafter, Black 7 and White 8 are miai, so Black cannot stop White from getting two eyes.




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	e
	
	e
	
	
	
	
	
	
	
	
	
	
	



Failure N (one-move)




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



Black just played at the top left of White’s formation.
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White 2 occupies the vital point of the problem that Black should have taken beforehand, gaining a living shape for her group.
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White is the owner of the point of A, so B is a real eye.




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	D
	
	
	
	
	E
	
	
	
	
	
	
	C
	



At the right, the points of C and D are miai, so E is a real eye.
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The descent of Black 3 can be utilized as a ko threat in a ko fight elsewhere on the board, but the atari of Black 5 gote, and so only an endgame issue. White is able to play elsewhere with 6.
After Black captures at 7, …
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… White’s connection at 8 eventually secures her second eye.
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Shape Analysis




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



White’s potential eye space consists of two already separated points (●).
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None of these points (?) can be considered to be a sure eye point yet.




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



White’s partial groups are not yet solidly connected ().




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



At the top left, you can see a potential line of false eyes (✕).




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



At the top right, you can see another potential line of false eyes (✕).

Please note that both lines share their end point in the centre of White’s formation.
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This formation is equivalent to a defect (!!) in White’s encirclement that can be exploited by Black.

Misguidance
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None of the two other defects (??) in Black’s encirclement at the top must be closed directly.

It does not make sense to attack the borders of your opponent’s formation in one place if your opponent is able to successfully consolidate their formation elsewhere.




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



At the left, you can see a potential line of false eyes (✕).

However, Black needed to occupy both of its end points to make this line work.




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



At the right, you can see another potential line of false eyes (✕).

However, Black needed to occupy both of its end points to make this line work.

Problem T0016




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



< Go to the next problem >

< Return to the index >

< Go to the next chapter >

Solution
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Black extends to 1, sacrificing a second stone, in order to spoil White’s shape.

Black must not mistakenly play at M, instead, capturing White’s single stone at the right.
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Capturing only two black stones with a move at 2 does not benefit White.
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Black throws-in at 3, turning White’s potential eye at the right into a false one. White’s group has only one eye in the corner, and so is dead.




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



Failure M (one-move)




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



Black just captured White’s single stone.
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White blocks at 2, occupying the vital point of the problem that Black should have taken beforehand, securing a living shape for her group.
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Shape Analysis




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



White’s potential eye space consists of two already separated points (●).
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In the corner, Black has solidly enclosed one eye (s).
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The hole (!!) in White’s encirclement at the right can be exploited by Black.
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Do not hesitate to sacrifice another of your stones if necessary for spoiling your opponent’s shape.

Misguidance
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At the right, both Black’s and White’s single stones have only one liberty, and so are in danger of becoming captured.

However, this mutual atari might be only on the board to bedazzle your mind.

Always think twice before capturing a single opponent’s stone. especially if it is located at the outskirts of their formation.

Problem T0017




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



< Go to the next problem >

< Return to the index >

< Go to the next chapter >

Solution
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Black extends to 1, sacrificing a second stone, in order to spoil White’s shape.
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Capturing only two black stones with a move at 2 will not provide White with her second eye.
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Black throws-in at 3, turning White’s potential eye at the right into a false one.

White’s group has only one eye at the bottom, and so is dead.




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



Shape Analysis




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



White’s potential eye space consists of two already separated points (●).
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At the bottom, White has solidly enclosed one eye (s).




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



White’s partial groups are not yet solidly connected ().




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



At the left edge, there is already a false eye ().
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The hole (!!) in White’s encirclement at the left can be exploited by Black.
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Do not hesitate to sacrifice another of your stones if necessary for spoiling your opponent’s shape.

Misguidance
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At the left, both Black’s and White’s single stones have only one liberty, and so are in danger of becoming captured.

However, this mutual atari might be only on the board to bedazzle your mind.

Always think twice before capturing a single opponent’s stone, especially if it is located at the outskirts of their formation.

Problem T0018




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



< Go to the next problem >

< Return to the index >

< Go to the next chapter >

Solution
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Black extends to 1, sacrificing a second stone, in order to spoil White’s shape.

Black must not mistakenly play at M, instead, capturing White’s two stones at the right.
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Capturing only two black stones with a move at 2 will not provide White with her second eye.
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Black throws-in at 3, turning White’s potential eye at the right into a false one. White’s group has only one eye at the bottom, and so is dead.




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



Failure M (one-move)




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



Black just captured White’s stones at the bottom right.
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White blocks at 2, occupying the vital point of the problem that Black should have taken beforehand, securing a living shape for her group.
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Shape Analysis




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



White’s potential eye space consists of two already separated points (●).
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In the corner, White has solidly enclosed one eye (s).




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



White’s partial groups are not yet solidly connected ().




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



At the right, there is already a false eye ().
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The hole (!!) in White’s encirclement at the right can be exploited by Black.
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Do not hesitate to sacrifice another of your stones if necessary for spoiling your opponent’s shape.

Misguidance
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At the right, both Black’s single and White’s two stones have only one liberty, and so are in danger of becoming captured.

However, this mutual atari might be only on the board to bedazzle your mind.

Always think twice before capturing some of your opponent’s stones, especially if these are located at the outskirts of their formation.

Problem T0019




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



< Go to the next problem >

< Return to the index >

< Go to the next chapter >

Solution
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Black extends to 1, sacrificing a second stone, in order to spoil White’s shape.
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Capturing only two black stones with a move at 2 will not provide White with her second eye.




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	3
	



Black throws-in at 3, turning White’s potential eye at the right into a false one.

White’s group has only one eye in the corner, and so is dead.




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



Shape Analysis




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



White’s potential eye space consists of two already separated points (●).
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In the corner, White has solidly enclosed one eye (s).
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The hole (!!) in White’s encirclement at the right can be exploited by Black.




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



You can see a potential line of false eyes (, ✕).




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



Black’s -stones at the right are strong, so White has no chance to escape to the outside.
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Do not hesitate to sacrifice another of your stones if necessary for spoiling your opponent’s shape.

Problem T0020




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



< Go to the next problem >

< Return to the index >

< Go to the next chapter >

Solution
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Black extends to 1, sacrificing a second stone, in order to spoil White’s shape.

Please note that it is no decisive element of the problem that this move gives atari at White’s group.




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	2



Capturing only two black stones with a move at 2 will not provide White with her second eye.
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Black throws-in at 3, turning White’s potential eye at the right into a false one. White’s group has only one eye in the corner, and so is dead.




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



Shape Analysis




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



White’s potential eye space consists of two already separated points (●).
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In the corner, White has solidly enclosed one eye (s).




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



At the right, you can see a potential line of false eyes (, ✕).
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The hole (!!) in White’s encirclement at the right can be exploited by Black.




	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



Black’s -stones are strong, so White has no chance to escape to the outside.
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Do not hesitate to sacrifice another of your stones if necessary for spoiling your opponent’s shape.


Introduction

Do not “read” this book!

This workbook must not be understood to be a “book”, which usually has to be read “successively”, from the first page to the last one.

The chapters of this workbook are structured according to shape. The first level is the size of the potential eye space of the group in question, the second level its form. There will be separate chapters for “Black to live” and “Black to kill”.

The level of the problems per chapter will increase from “closed borders & empty” to “open borders & filled”.

At the start of each chapter, there are some explanations of the “basic shape”. It is recommended to study these carefully, as they explain some important features of the shape that is currently in focus.

Thereafter, you can browse through the problems on your own:

●	Go to the next problem,

●	Tap your solution point at the board,

●	Correct ? -> Fine, go to the next problem (if you do not want to know why you were correct),

●	…,

●	Mistaken ? -> Please do not worry, you may want to study the detailed solution on the next page and the shape’s structural elements thereafter.

●	…,

●	Bored, because “correct” is so very easy for you ? -> Go to the next shape.

This implies that the detailed explanations must be of the same kind with every problem, because it is the reader’s choice which one of these they will want to study first. But this does not mean that it is mandatory to study every solution and every shape analysis in order.

If you want to do only the problems, it is like browsing through a problem collection, but without random access.

If you want to do some theory, you can do whenever you like, with whatever problem.

What might be quite unusual to this workbook is the transformation / transposition of many problems from “Black to kill” to “Black to live” or vice versa, interchanging the stones' colors. As a result, solutions may contain several subvariations which are more or less disadvantageous – in one aspect or the other.

However, I suppose that it will be to your advantage to learn recognizing positions where you still have to add a stone, either to bring your group to live or to kill an opponent’s group. Even a slightly disadvantageous way of doing so will still be better than to have it the other way round, but fail.

Do not underestimate one-move problems

This workbook contains only problems that can be solved in three moves (in principle), therefore it is suitable even for players who have just left the beginner’s stage. Nearly everything is explained in much detail.

You will find a lot of variations that contain moves that may also successfully lead to the goal, but which cannot be considered to follow “optimal” play. Similarly, there will be candidate moves that will end in failure. The respective move sequences will often include more than only three moves, so you will be gently introduced into more difficult aspects of the game.

In some of these variations, you will also encounter ko fights, which – in their basic shape – are at least three-move issues. However, solving problems that have “ko” as their solution will be reserved to a second edition of this book.

Please do not worry if any of these variations seems to be above your current level. Just go on and come back later.

When working on this first edition, I concentrated on shapes of a size up to six points. For larger shapes, it was by far more difficult to have application cases for “three-move tsume-go”. However, as happened with my “Workbook: One-Move Life and Death Problems”, a large supplement can be expected to be added in a second edition of this book, resulting as a side-effect from my forthcoming work on “five-move tsume-go”.

Motivation

My beloved wife once asked me “You wrote some books about the most difficult problem ever created; why don’t you write a problem book for beginners?”

However, there are so many books on life & death problems available that it is difficult to add something valuable. During the work on my two books on “Tsume-Go Strategy”, the concept of this workbook came into my mind and I discussed it with my wife (being a member of the target audience). She was convinced that it would benefit potential readers, so I started.

I am sure that it is best to let the reader develop / find their own rules for solving problems, as well as for the exceptions from these rules. Every rule formulated by a third party (e.g. “Reduction first, then placement.”) might be misleading, especially in cases where this rule still works, but does not lead to the best solution.

Repetition matters, so I intended to include as many problems as possible.

However, it needs a special attitude to always focus on following the same way of presenting and commenting solutions which may be quite similar (or even identical) to several ones before. Therefore, please be patient if you encounter a problem where it seems that I deviated a bit from the “usual” path.

Please take also into account that I am a strong Kyū player only when judging the accuracy of the presentation. This book contains over 400 problems and about 8,900 diagrams, so please be forgiving if you find a fault in one of them. If you find anything better, or have a question, or a suggestion, please do not hesitate to report via the following email address:
igohatsuyoron120@gmail.com

Please also note that English is not my native language. Unfortunately, we were unable to find somebody who would be willing to go through each detail of the book, providing us with an external review. So please be forgiving if you come across a section that does not match the standards of a native speaker. If you find an inaccuracy or a mistake, please kindly use the email address above for reporting.

It is my hope that studying this workbook first of all is fun, assists you in getting stronger, and that it also makes you fascinated in the important field of tsume-go.

Berlin, June 2017
Thomas Redecker
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This workbook is designed especially for players who have left the beginner’s stage and feel able to think three moves ahead. Each of the over 400 problems only requires you to think about one preparatory move, setting the scene for one successive final blow.

The problems of this collection are ordered by shape. Repetition matters, so each shape provides as many slightly different problems as possible. While each problem is explained in detail, readers can choose whether to simply continue with the next problem, or switch to the detailed explanation of the main solution, side variations, failures and the analysis of the problem’s shape issues.

Very often, side variations and refutations of failures are more complicated than the main path of the problem’s solution. While studying these additional variations — again at the reader’s own choice — the reader will be gently and subtly guided to more complicated issues in the beautiful field of tsume-go, preparing for the next step in study.

This book is a successor of “Workbook 1: One-Move Life and Death Problems”, but can be studied independently.

